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1 501 IBH EXF fif] I T 154 IN—T 01:25" 33 4:3 154
2 507 | #2 EHBK SEERTH 137 N7 01:30 44 4:18 137
3 529 NS He EWT™ 110 5km 00:20° 37 4:7 110
4 519 | R BKRF T 104 5km 00:21 08 4:14 104
5 500 FE =X BE™ 101 N T 01:41° 31 4:49 101
6 510 UE FEF E¥EH 96 10km 00:45" 26 4:33 96
6 512 #E £ fif] I T 96 10km 00:45" 26 4:33 96
8 520 Wk Fi IME T 78 10km 00:48’ 32 4:51 78
9 517 %HE &F SEARTH 59 IN—T 01:54° 27 5:25 59
10 508 RO FiE fif] 5 i 51 5km 00:26" 30 5:18 51
11 533| E/+ #F E£/h 44 5km 00:27° 08 5:26 44
12 523 way BEF =™ 26 IN—T 02:04° 22 5:54 26
13 509 HT 2HE 2Bm 21 IN—T 02:05" 43 5:58 21
14 522 N BEF AHEM 17 IN—T 02:07" 17 6:2 17
15 502 AK EF 2Bm 10 10km 01:00° 19 6:2 10
16 503 WIZRE L 2Bm 1 IN—T 02:14° 21 6:22 1
16 511 = ¥l 1 IN—T 02:23’ 52 6:49 1
16 513 28 EMTH 1 10km 01:09’ 54 6:59 1
16 514 miE ax ZHEM 1 10km 01:04° 27 6:27 1
16 515 Bk A& 21 1 IN—T 02:24’ 52 6:52 1
16 516 HH B E/h 1 10km 01:02° 33 6:15 1
16 518 Fik = i 1 5km 00:33" 48 6:46 1
16 521 Al ES SRF 1 IN—T 02:29’ 39 7:6 1
16 525 g E£5 5% ZEHT 1 IN—T 02:13" 22 6:19 1
16 526 ANH BF [if] U i 1 10km 01:09’ 52 6:59 1
16 527 IRE E AHEM 1 10km 01:03’ 58 6:24 1
16 528 AKX BF AT 1 10km 01:03" 04 6:18 1
16 530 AR & BHH 1 5km 00:32° 56 6:35 1
16 531 EZH Y Ao EM 1 5km 00:43’ 37 8:43 1
16 532 | #HFKX pHMY 2Bm 1 5km 00:34° 03 6:49 1
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